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QUESTION 1
Which three configurations would you recommend to provide High Availability? (Choose three.)

A. enabling Flashback Technologies - for fast point-in-time recovery from logical corruptions and for fast reinstatement
of a primary database following failover

B. configuring bonding for the management network in order to provide highest availability for the Data Guard network

C. using Normal redundancy diskgroups for all diskgroups where the primary database is protected by a Data Guard
standby database that is deployed on the same Exadata Database Machine

D. when no Data Guard standby database is deployed, using High redundancy for both the RECO and DATA
diskgroups

E. using Normal redundancy diskgroups for all diskgroups where the primary database is protected by a Data Guard
standby database that is deployed on a separate Exadata Database Machine

F. when no Data Guard standby database is available, configuring Exadata as a stretched RAC

Correct Answer: ABD

QUESTION 2

Your Exadata Cloud instance has been fully provisioned and you continue the setup by logging in to the newly created
Virtual Machines (VMs) by using SSH.

Which two default usernames can be used to log in to the VMs? (Choose two.)
A. administrator

B. oracle

C. root

D. system

E. opc

Correct Answer: CE

Reference: https://docs.oracle.com/en/cloud/paas/java-cloud/jscug/switching-vm-users.html

QUESTION 3

Which two statements are true about the two types of Exadata storage servers, the HC storage server and the EF
storage server?

A. The EF storage servers contain 8 X 3.2TB PCle flash cards.
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B. The HC storage servers contain 12 X 8TB hard disks and 4 X 3.2TB PClI flash cards.

C. The HC storage server is an all disk storage server with no flash containing 12 X 8TB hard disk.

D. The EF storage server contains 8 X 3.2TB PCI flash card and can be upgraded with 4 more a total of
12.

E. The EF storage server contain 8 X 3.2TB PCI flash cards and 4 X 8TB disk drives.

Correct Answer: AB

QUESTION 4

Which statement is true about the Exadata CELLBOOT USB?

A. Each patch that is performed on the Exadata storage servers requires manual resync of the CELLBOOT USB.
B. Some space from the CELLBOOT USB is used for cache metadata when write-back flash cache is enabled.

C. Regular Exadata storage server patches make sure that the internal USB is updated so that it can be used for
recovery.

D. Exadata automatically copies OS binaries and configuration files from another cell during patching to sync the
internal USB.

E. changes to network configuration ?les are possible without using ipconf.pl as long as all the relevant files are
updated.

Correct Answer: C

QUESTION 5

In which three cases would RMAN backup and recovery be a good strategy for migrating to the cloud? (Choose three.)
A. when the source platform is little endian, character set is AL32UTF8, and the architecture is multitenant

B. when moving an Oracle Data Guard physical standby database to the cloud

C. when you are migrating a database from a different database version and it might have a different character set

D. when you are concerned about the endian nature of the database and want to perform conversions from different
formats

E. when a physical migration approach is feasible and physical database reorganization is no necessary

Correct Answer: BCE
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